



Vendor Ranking

Page 1 of 1

Letting: 01240815 August 15, 2024 11:00 AM **Call Order**: 003 **Contract**: E1X27-R0

District: District 1 Counties: DIST/ST-WIDE, GLADES, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

HENDRY

Project(s): 43274417274 (*)

Contract Desc: Striping in Glades & Hendry County

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MCSHEA CONTRACTING, LLC	Responsive	Winning bid	\$513,770.20	100.00%
2	P & P STRIPING LLC	Responsive	Non-Winning Bid	\$537,705.20	104.66%
3	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$551,066.40	107.26%
4	AKCA, LLC	Responsive	Non-Winning Bid	\$582,144.00	113.31%
5	WATERBLASTING LLC DBA HOG TECHNOLOGIES	Responsive	Non-Winning Bid	\$627,115.64	122.06%
6	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$1,424,332.00	277.23%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

Letting: 01240815 August 15, 2024 **Call Order:** 003 **Contract:** E1X27-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

GLADES, HENDRY

Project(s): 43274417274 (*)

Contract Descr: Striping in Glades & Hendry County

The work under this contract consists of Striping.

	No / Item ID	Alternate	Quantity Units	(1) MCSHEA CO	*	(2) P & P STF	RIPING LLC		ISTRUCTION IP, LLC
() inc	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	0711 12101 OPLASTIC, RE SOLID, 6"	FURBISHMENT	70.000 -, GM	3,035.00000	212,450.00	2,900.00000	203,000.00	2,850.00000	199,500.00
	0711 12131 OPLASTIC, RE SKIP, 6"	FURBISHMENT	58.000 -, GM	760.00000	44,080.00	1,200.00000	69,600.00	1,200.00000	69,600.00
	0711 12201 IOPLASTIC, RE W, SOLID, 6"	FURBISHMENT	70.000 -, GM	2,850.00000	199,500.00	2,900.00000	203,000.00	2,850.00000	199,500.00
	0711 12231 IOPLASTIC, RE W, SKIP, 6"	FURBISHMENT	59.000 GM	715.00000	42,185.00	850,00000	50,150.00	1,200.00000	70,800.00
	E710 11121 D PAVEMENT ARD, WHITE, S	,	12,000.000 LF	0.40000	4,800.00	0.25000	3,000.00	0.30000	3,600.00
	E710 11141 D PAVEMENT ARD, WHITE, S	•	7,771.000 LF	0.40000	3,108.40	0.40000	3,108.40	0.30000	2,331.30
	E710 11221 D PAVEMENT ARD, YELLOW	•	12,000.000 LF	0.40000	4,800.00	0.25000	3,000.00	0.30000	3,600.00





Tabulation of Bids

Page 2 of 5

Letting:	01240815	August 15, 202	4 Ca	II Order: 003		Contract:	E1X27-R0	
Line No / Ite Item Descrip		e Quantity Units	(1) MCSHEA CO		(2) P & P STI	RIPING LLC		NSTRUCTION JP, LLC
() indicates ite	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TON: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	11241 MENT MARKINGS, ELLOW, SKIP, 6"	7,117.000 LF	0.40000	2,846.80	0.40000	2,846.80	0.30000	2,135.10
	EMENT STRIPING S E MACHINE) (LM)	Section Totals:		\$513,770.20 [°]		\$537,705.20 [°]		\$551,066.40
	Contract G	rand Totals:		\$513,770.20		\$537,705.20		551,066.40



Page 3 of 5

Florida Department of Transportation



Tabulation of Bids

Letting:	01240815	August 15, 2024	Call Order: 003	Contract: E1X27-R0

Letting	j: 0′	1240815	August 15, 202	4 Ca	II Order: 003		Contract:	E1X27-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) AKC	A, LLC	(5) WATERBLAS HOG TECHI		(6) ACME BAI	RRICADES LC
() indi	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	0711 12101 DPLASTIC, RI SOLID, 6"	EFURBISHMEN	70.000 IT, GM	3,100.00000	217,000.00	3,220.00000	225,400.00	6,500.00000	455,000.00
0010 THERMO WHITE,		EFURBISHMEN	58.000 NT, GM	1,100.00000	63,800.00	1,375.00000	79,750.00	4,000.00000	232,000.00
THERMO	0711 12201 DPLASTIC, RI V, SOLID, 6"	EFURBISHMEN	70.000 IT, GM	3,100.00000	217,000.00	3,225.00000	225,750.00	6,500.00000	455,000.00
	0711 12231 DPLASTIC, RI V, SKIP, 6"	EFURBISHMEN	59.000 IT, GM	1,100.00000	64,900.00	1,375.00000	81,125.00	4,000.00000	236,000.00
	E710 11121 D PAVEMENT ARD, WHITE,	MARKINGS, SOLID, 6"	12,000.000 LF	0.50000	6,000.00	0.30000	3,600.00	1.00000	12,000.00
	E710 11141 D PAVEMENT ARD, WHITE,	MARKINGS, SKIP, 6"	7,771.000 LF	0.50000	3,885.50	0.53000	4,118.63	1.50000	11,656.50
	E710 11221 D PAVEMENT ARD, YELLOW	MARKINGS, /, SOLID, 6"	12,000.000 LF	0.50000	6,000.00	0.30000	3,600.00	1.00000	12,000.00
	E710 11241 D PAVEMENT ARD, YELLOW	MARKINGS, /, SKIP, 6"	7,117.000 LF	0.50000	3,558.50	0.53000	3,772.01	1.50000	10,675.50



08/15/2024

Page 4 of 5

Tabulation of Bids

Letting:	01240815	August 15, 202	24 C a	all Order: 003		Contract:	E1X27-R0		
	Line No / Item ID Alternate Item Description		(4) AK	(4) AKCA, LLC		(5) WATERBLASTING LLC DBA HOG TECHNOLOGIES		(6) ACME BARRICADES LC	
() indicates ite	em is bid as Lump Su	т	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (PAVEMENT STRIPING (LARGE MACHINE) (LM									
	0001 PAVEMENT STRIPING Section Totals: (LARGE MACHINE) (LM)			\$582,144.00		\$627,115.64		\$1,424,332.00	
	Contract	Grand Totals:		\$582,144.00		\$627,115.64		1,424,332.00	



08/15/2024

Tabulation of Bids

Page 5 of 5

Letting: 01240815 August 15, 2024

Call Order: 003

Contract: E1X27-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.